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Bell Work: Copy the problem and only the
correct answer.

N-RN.1.1

An equation is shown below. Which

statement correctly explains what is the

missing value? !
(42 -4 -473) = 4.(3"‘1""[[} |

A. The missing value is 3 because 42 - 47 . 473 = 4(2+b+3)

B. The missing value is -1 because 4 - 47 - 473 = 47°
@ The missing value is -3 because 42 - 47 - 473 = 4(2+p-3)
D. The missing value is -125 because
42 . 4P . 43 _ g(2+p+(-125))
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Factoring Trinomials (a=1)

- ] Q
Factor each completely. (A A EX x, -
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